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Simplification de radicaux- Exercices

N

w

4

Rends formels les radicaux suivants.

72=

N

V567 =

8V126 =

10v490 =

6 17V392=
7 1000 =
8 2V27-=
9 13v810-=
10 V338=
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Simplification de radicaux - Solutions

1 7V72=7.4/36.4/2=7.6+/2=42\2

2 V68=+/4.17=2\17

3 /567=+/81.47=97

4 8J126=8.49.414=8.3+14=24\/14

5 10v490=10.+/49.4/10=10.7+/10=70+10

6 17v392=17.+/196.4/2=17.14/2=238\2
7 /1000 = /100 . /10 = 104/10

8 2V27=2.4/9.4/3=2.3+/3=64/3

9 13V810=13.+/81.4/10=13.9+/10=117/10

10 /338=+/169.4/2 =132
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